restart
Ecuacion :==-2-x-y(x) + (3-x--2 —y(x )-diff (y(x),x) =

Ecuacion = -2 xy(x) + ( 357 —y(x) ) (% ):

with(DEtools) :

odeadvisor(Ecuacion)
[[_homogeneous, class A], rational, dAlembert]

intfactor( Ecuacion)
1

y(x)

4

EcuacionDos = simplify(isolate(eval(subs(y(x) =u(x)-x, Ecuacion)), diff (u(x), x

2
EcuacionDos := % u(x) =- u(;cz _(;L—Z(L;());)) )
po ulcldu)
(-3 +u2)
u(-1+4")

P:=
-3 +u2

. 1 . 1
Sg == mt(;,x) +znt(?, u) =C,
Sg:=In(x) —In(u +1) +3In(u) —In(u —1) =C,

SolucionGenerallntermedia = simplzﬁ/(exp(th(Sg) ) = Cl)
3
SolucionGenerallntermedia := Lz = C’1
-1+u

SolucionGeneralFinal := expand (simplifj/( (Subs (u = %, SolucionGeneml]ntermedia) ) ) )

3
SolucionGeneralFinal := - —2L2 =C,

X =y
M:=-2xy
M=-2xy
N =3 —y2
N:=3x —y2
Factlnt := L
yu -4
Factlnt := %
y
MM = simplify(M-Factlnt)
MM = - 2—3’“
y

NN = expand(N-Factlnt)
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I
NN:="- -

3 x2
4
y

| y
> Comprobacion, := simplify(diff (MM, y) — diff (NN, x)) =0
Comprobacion, :=0=0
[ > IntMM = int(MM, x)
IntMM = -

\<w|><N

_> SolucionGeneralDos = IntMM + int( (NN — diff (IntMM, y)),y) = C,
2
1

SolucionGeneralDos := - x_3 + —=C,
i oY
> SolucionGeneralFinal
3
Ly
2 2 Cl
L X =y
1
luci = =
> SolucionUno lhs (SolucionGeneralFinal) €
2 2
SolucionUno = - 2 3y =C1
4

_> Comprobacion,, = simplify(lhs (SolucionGeneralDos) — lhs (SolucionUno)) =0

Comprobacion, :=0 =0

149, C (g — x%) = "
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